


INSTRUCTIONS:

STEP 1. REMOVE TOP NUT & LOCK WASHER THEN PLACE 
THE HANDLE ON 7/16" BOLT, REPLACE NUT AND 
LOCKWASHER. BE SURE NUT IS TIGHTENED.

STEP 2. TAKE CONE SHAPED COMPRESSION SPRING AND 
CAREFULY COMPRESS BETWEEN YOUR FINGERS, PLACE 
SPRING UNDER TRIPPER & OVER 7/16" JAM NUT. THE 
SPRING DOES NOT REQUIRE ANY FURTHER TIGHTENING 
OR FURTHER ADJUSTMENT. TEST TRIPPER TO BE SURE 
SPRING SEATS ITSELF PROPERLY.

STEP 3. FLIP GOPHER GETTER JR UPSIDE DOWN TO 
PLACE BAIT BOTTLE INTO BAIT BOTTLE CASTING.

ELSTON "GOPHER GETTER JR." ASSEMBLY INSTRUCTIONS

B

E

A

I

G

7/16 JAM NUT

7/16 INTERNAL LOCK WASHER

H

F

D

C

Parts List
Label  Part #               Discription
A  G601     Outside Casting
B  G603-3 Bait Bottle Casting
C  G602        Rod Assembly
D  G607        Spring
E  G609   Handle Assembly
F  G606A          Tripper Head
G  G605                   Tripper
H  G616        Tripper Spring
I  GB1          1# Bait Bottle

       (Includes Bait)




